Part1: Molar Mass

Use the periodic table to find the molar masses of the following.
HCI= K,CO;=

Ca(OH),= Na;PO,=

Part 2: Types of reactions

Choose the correct symbol for the type of reaction. Place that answer
in the blank at the beginning of each equation

S = synthesis SD = single displacement
D = decomposition DR = double replacement
C = combustion

1. Na (s) + H,O (I) 2> NaOH (aq) + H, (9)
2. CO(g)+0,(g9) > CO,(9)

3. FeS (s) + HCI (aq) - FeCl, (aq) + H,S (9)
4. NaNO; (s) > NaNO, (s) + O, (9)

5. CH,(g9) +0,(g9) > CO,(g) +H,0O (9)

Part 3: Balance the following equations

5. HgO - Hg + 02

6 CO2+ H20 > CeH1206 + 02
7. Zn + HCI > ZnCl2+ H2

8 SiCla+ H20 > H4SiO4 + HCI
9. Na + H20 - NaOH + H2
10. H3PO4—> H4P207+ H20

1. Giohliate - Gl C+ HCI

12. CO2+ NH: > OC(NHz)2+ H20



